1) Δ
2) x3-3x2+x-3=0

(x2+1)(x-3)=0

Αρα λυση είναι το 3(Δ)

3)
25a+b+c=0 (1)


64a+8b+c=155 (2)


144a+12b+c=155 (3)

(3)-(2)=> 80a+4b=0 ( b=-20a (4)

(4)->(1)=> 5a+c=0 ( c=-5a (5)

(4),(5) => b=4c  (6)

(4),(5)->(2)=>
64a+8(-20a)-5a=155



64a-160a-5a=155



a=-155/101

(4),(5)->(3)=> 
144a+12(-20a)-5a=155


-101a=155



a=-155/101, b=20*155/101, c=5*155/101
4)=[image: image1.png]g



(sin2x)’dx= sin(2*π/4)-sin(2*0)=1-0=1(B)
5) dy/dx= d(2sin(3x))/dx= 2d(sin(3x))/dx=2*3*cos(3x)=6*cos(3x)

Για x=1.0 εχουμε: dy/dx=6*cos(3x)=6*cos(3)=-5.9399 (A)

